Chapter 19 Problem II
 (+1)



Name _____________________

Show all work to receive full credit!

11. Calculate Keq for the reaction given: H2 = 0.053 mol; CO2 = 0.053 mol; H2O = 0.047 mol; CO = 0.047 mol.

H2 + CO2 ( H2O + CO

12. How many moles of I2 and HI are present in equilibrium mixture? Given H2 = 0.50 mol and Keq = 0.020


 2HI ( H2 + I2
14. How can changes in the equilibrium position be predicted from changes in concentration, temperature, and pressure?

16.  What is the significance of double arrows in an equation?

17. How do the amount of reactants and products change once a reaction has achieved chemical equilibrium? 

18. Can a pressure change shift the equilibrium position in every reversible reaction?  Explain your answer.

19. Determine which equations are the products favored over the reactants? 

a) Keq = 1 x 102
b) Keq = 0.003

c) Keq = 3.5

d) Keq = 6 x 10-4
20. Explain what is meant by the following:

a) entropy

b) free energy

c) spontaneous reaction

d) nonspontaneous reaction

21. What two factors determine whether a reaction is spontaneous?

a)

b)

22. Where does lost free energy typically end up?  Does free energy lost as heat ever serve a useful function?  Explain.

23. What can change a reaction from nonspontaneous to spontaneous?

24. Suppose the products in a spontaneous process are more ordered than the reactants.  Is the entropy change favorable or unfavorable?

